
D13

SCHEMATIC, POWER SUPPLY2007-2010 LOUD TECHNOLOGIES INC.

6/25/2008RJ

0027030-XX

2

A

B

C

D

123456

D

C

A

C

ALL RIGHTS RESERVED
THE INFORMATION CONTAINED HEREIN
IS PROPRIETARY AND CONFIDENTIAL
PROPERTY OF LOUD TECHNOLOGIES INC.

APPROVALS DATE
DRAWN:

CHECKED:

NP ENG:

MATERIAL:

MFG:

MFG ENG:

ISSUED:
D

SIZE

DWG FILE:

NONE
SCALE: DWG. NO.

SHEET 1 OF

REV.

Technologies Inc.

16220 WOOD-RED RD NE WOODINVILLE, WA 98072

L

N

E

120V

230V

120V

(DNI)

(DNI)

(DNI)

HARDWARE

B

126 5

MAIN SUPPLY

FAN 1

FAN 2

+75 V (Big Box)+55 V (Small Box)

-75 V (Big Box) -55 V (Small Box)

+20 V (Ref V-)

Not used on box mixers.ASSEMBLY VERSION TABLE

-00

-01

SMALL BOX 120V VERSION

SMALL BOX 230V VERSION

-02

-03

BIG BOX 120V VERSION

BIG BOX 230V VERSION

-04 FS 120V VERSION

-05 FS 240V VERSION

ADD PER GLUE DETAIL
DWG ON ALL ASSY'S.

-06 SRM1801/TH18S 120V

-07 SRM1801/TH18S 230V

*
*

*
*

*
*

* DENOTES PARTS NOT USED
ON -04 THRU -07 ASSY'S.

C1
1UF

275V

1 2

3 4

L1

4mH

C2
1UF

275V

C3
3300PF
250V

C4
3300PF

250V

1 2

3 4

L2

4mH

C5

275V
0.47UF

VDR1
14N471K

TH1
SCK2R515

TH2
SCK2R515

BR1
KBJ1506

J3

J4

J5

C6R2
68K
1W

R3
68K
1WC9

2200PF

250V

8
SFST

7
DSCH

6
RT

5
CT

4
OSC

3
SYNC

2
+IN

1
-IN

9
COMP

10
SHDN

11
OUTA

12
GND

13
VC

14
OUTB

15
VCC

16
VREF

U1

KA3525A

R1
330K
1W

C10

250V
0.47UF

1

3

2

4

6 5

T1-A

16

14

15

13

1211

T1-B

10

9

T1-C

Q1
IRFP460A

Q2
IRFP460A

D1
ER1002F

D2
ER1002F

D3
ER1002F

D4
ER1002F

L3

3uH

L4

3uH

C12
680UF
100V

C13
680UF
100V

C14
680UF
100V

C15
680UF
100V

C16
680UF
100V

C17
680UF
100V

R6
5.1K
2W

R7
5.1K
2W

L5

BEAD

C18
220UF

35V

C19
220UF

35V

R8
10

R9

10K

R10

1K

Q3

MMBT4403

Q4

MMBT4403

D9
SS0540

R11
10

R12
10K

R13

1K

D10
SS0540

1

4

T2-A

6

5

T2-B

8

7

T2-C

D11
SS0540

D12
SS0540

D13
SS0540

D14
SS0540

4
3

1
2

T3
UU-9.8

D15
ER1D

R14
100

R15

R16
100K

R17

(-00 THRU -03 ONLY)

R18
91K

D16
LL4148

C20
100uF

25V

C21
560PF
50V

C22
10uF
50V

R19
100

R20

12K
C23
470PF
50V

C24
0.1UF
50V

C25

47UF
25V

C26

0.1UF
50V

C27
1nF 100V

R21 47

D5
LL4148

D6
LL4148

D7
LL4148

D8
LL4148

C28
0.1UF
50V

7 +

6 -
1

U3-A
AS339M

5 +

4 -
2

U3-B

AS339M

11+

10-

13

U3-C
AS339M

9+

8-

14

U3-D
AS339M

3

12

U3-E

C29
0.1UF
50V C30

0.22UF
50V

R22
390K

R23
100

R24
390K

R25
47K C31

0.1UF
50V

C32
0.22UF
50V

R26
27K

R27
39K

R28

470K

R29

470K

R30

470K

R31
470K

C33

400V
0.1UF

D18
GS1G

1 DIS1

2 TH1

3 CONT1

4 REST1

5 OUT1

6 TR1

U4-A
NE556

7

G
N

D

8 TR2

9 OUT2

10 REST2

11 CONT2

12 TH2

13 DIS2

14

V
C
C

U4-B
NE556

C34
1000PF
50V

R32

100
C35
10uF
50V

R33
100K

R34
100K

Q5
MMBT3906

C36
0.1UF
50V

R35
47K

R36
4.7K

C37
0.1UF
50V

R37

47K

C38
10uF
50V

C39
1000PF

50V

C41
0.1UF

50V

R40
47K

R41
4.7K

Q7
MMBT3904

C42
0.1UF
50V

U5
LTV-817M

TH3

70C
PTC

R42
12K

R46
47K

R47
10K

R48
100K

R
K

A
U6
AZ431

Q10
MMBT3906

D19
LL4148

L6

BEAD

C45
10uF
50V

C46
0.1UF
50V

C82
2200PF
250V

D30

LL4148

J8-1

J8-2

J9-1

J9-2

J1-1

J1-2

J1-3

C86
0.1uF
100V

C87
0.1uF
100V

C88
0.1uF
100V

R38
3.3K

R39
2.2K

D17
LL4148

1

2 3

4

U12
LTV-817M

R76
10

1 2 3

HS1

1 2 3

HS2

J2-1

J2-2

J2-3

J2-4

J2-5

J2-6

J2-7

J2-8

R81
100

C91
0.1UF
50V

TH5

50C
PTC

F1

T10A

250V

C8

400V
0.1UF

IN OUT
COM

3

1

2

U2
LM317P

R4
240

R5
1K

DZ1
1N5242
12V

TP1 TP2

TP3

TP4

TP5

TP6

TP7

TP8

TP9

TP10

TP11

TP12

TP13

TP14

TP15

TP16

TP17
TP18

TP19

TP20

TP21

TP22

TP23

TP28

TP26

TP27

TP29

TP30

TP31TP33

TP34

TP35

TP36

TP37

TP38 TP39

PCB1 PCB FAB POWERED MIXER POWER SUPPLY BOARD
0025961-03

FC1 CLIP 5MM COPPER TIN PCB
0025343

SCR1 SCREW M3X10
0024371

SCR2 SCREW M3X10
0024371

SCR3 SCREW M3X10
0024371

SCR4 SCREW M3X10
0024371

SCR5 SCREW M3X10
0024371

SCR6 SCREW M3X10
0024371

SCR7 SCREW M3X10
0024371

SCR8 SCREW M3X10
0024371

SCR9 SCREW M3X10
0024371

SCR11 SCREW M3X12
0026672

SCR12 SCREW M3X12
0026672

WSH1 WASHER 3.2X6.2X1
0026697

WSH2 WASHER 3.2X6.2X1
0026697

WSH7 WASHER 3X6X2.69
0021419

INS1 INSULATOR 18X13X0.1
0021424

INS2 INSULATOR 25X20X0.1
0025433

INS3 INSULATOR 25X20X0.1
0025433

WL3 WIRE FOR L3
0025312

WL4 WIRE FOR L4
0025312

E1

STDFSWAGEM3X8MMLF
0008320-04

E2

STDFSWAGEM3X8MMLF
0008320-04

E3

STDFSWAGEM3X8MMLF
0008320-04

E4

STDFSWAGEM3X8MMLF
0008320-04

E5

STDFSWAGEM3X8MMLF
0008320-04

E6

STDFSWAGEM3X8MMLF
0008320-04

E7

STDFSWAGEM3X8MMLF
0008320-04

WSH3 WASHER 3.2X6.2X1
0026697

WSH4 WASHER 3.2X6.2X1
0026697

WSH5 WASHER 3.2X6.2X1
0026697

WSH6 WASHER 3.2X6.2X1
0026697

FC2 CLIP 5MM COPPER TIN PCB
0025343

WSH8 WASHER 3X6X2.69
0021419

INS4 INSULATOR 18X13X0.1
0021424

SCR10 SCREW M3X10
0024371

SCR13 SCREW M3X12
0026672

SCR14 5-20X5/16 PHPII TYP B BLK
701-016-00

SCR15 5-20X5/16 PHPII TYP B BLK
701-016-00

SCR16 5-20X5/16 PHPII TYP B BLK
701-016-00

SCR17 5-20X5/16 PHPII TYP B BLK
701-016-00

SCR18 5-20X5/16 PHPII TYP B BLK
701-016-00

SCR19 5-20X5/16 PHPII TYP B BLK
701-016-00

SCH1 PCB ASSY SCHEMATIC, PM PS

0027030-XX

Z2 2034504

SILICONE RTV NON-FLOWABLE PASTE

C7

A

[1,2]
VCC

[1]
VREF

[1]
VREF

[1,2]
VCC

[2]
LIMIT

[1,2]

VAC

[1,2]
VDC-H

[1,2]
VAC

[1,2]
VDC-H

[1,2]
VCC

[2]
PG

[2]
+15V

[1,2]
VCC



2

D

C

B

A

12345678

A

B

C

D

8 7 6 5 4 3 1

16220 WOOD-RED RD NE WOODINVILLE, WA 98072

Technologies Inc.

REV.

OF2SHEET

DWG. NO.SCALE:

NONE

DWG FILE:

SIZE

D
PROPERTY OF LOUD TECHNOLOGIES INC.
IS PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED HEREIN
ALL RIGHTS RESERVED
C

2

0027030-XX D13

SCHEMATIC, POWER SUPPLY2007-2010 LOUD TECHNOLOGIES INC.
AUX SUPPLY

Pin 13 not used - Stuff 12 pin connector

These supplies not used on versions -04 thru -07

(12V SUPPLY NOT USED ON ANY VERSION)

1

GND

2FB

3

VIN

4

RI

5

RT

6CS

7

VDD

8

GATE

U7

OB2269CCP

R50
15K

R51
470

C47
1000PF
50V

C48
1000PF

50V

TH4

100K
NTC

R52
470

R53
0.47

1W

2

3

1 Q11
SSS7N60
FQPF8N60C (ALT)

R54

10K

R55

22

R56
150K

R57
150K

R58

150K

1

3

T4-A

6

5
T4-B

13

11

9

14

15

16

12

10

T4-C

C49
22UF
50V

D20
LL4148

R59

10

D21
ER1D

C50
100uF
25V

C51
.01uF
1KV

R60
47K
2W

D22
ER1J

D23

ES3D

D24
ES3D

C52

1nF 100V

C53
1nF 100V

R61

10 0.5W

R62

100.5W

C54
470UF
25V C55

470UF
25V

C56
470UF

25V

C57
470UF
25V

C58
470UF
25V

C59
470UF

25V

L7
1.6UH

L8

1.6UH

1

23

4

U8
LTV-817M

R63 10K

R64
2K

R
K

A

U9
AZ431

R65

4.7K

R66
3.92K

R67
43K

C60
0.1UF
50V

D26
ES3D

R69

10 0.25W

C65
2.2nF 100V

C66
470UF
25V

C67
470UF
25V

C68
470UF
25V

L10

1.6UH

D27
ER1G

C69

220PF
1KV

R70

10
0.5W

C70
100UF

63V

L11
1.6UH

C71
100UF
63V

IN OUT

COM

3

1

2

U10
LM317T

C72
10uF
50V

C73
0.1uF
100V

C74
0.1uF
100V

D28
GS1G

D29
GS1G

R71
240

R72
17.4K

R73
17.4K

C75
100UF
63V

C76
0.1uF
100V

C77
0.1UF
100V

C79
0.1UF
100V

C80
0.1UF
100V

C81

400V
0.1UF

C83

2200PF
250V

J6-1

J6-2

J6-3

J6-4

J6-5

J6-6

J6-7

J6-8

J6-9

J6-10

J6-11

J6-12

J6-13

J7-1

J7-2

J7-3

C85

0.1uF
100V

R74 10

R80 10

C90

0.1uF
100V

R83

470
1W

R84

470
1WR85

1K

TP40

TP41

TP42

TP43

TP44

TP45

TP46

TP47

TP48

TP49

TP50

D25

ES3DR68

10 0.5W

C61

1nF 100V

C62
470UF
25V

C63
470UF
25V

C64
470UF
25V

L9
1.6UH C78

0.1UF
100V

C84

0.1UF
100V

R75 10

TP63

TP62

TP61

TP57

TP53

TP52

TP54
TP56

TP55

TP58

TP59

TP60

TP51
R43
301

3
IN

1

ADJ

2
OUT

U11
AZ1117-ADJ

R45
100

Z1 TAPE THERMAL TRANSFER .5MM 3M 8820
0030183

QTY A/R

S

S

[1]

VAC

[1]

VDC-H

[2]
+48V

[2]
+5V

[2]
-15V

[1,2]
+15V

[1]
VCC

[2]
+5V

[2]
+48V

[1,2]
+15V

[2]
-15V

[1]
PG

[1,2]
+15V

[2]
-15V

[1]
LIMIT

[2]

+12V

[2]
+12V


